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o

rl

6x-2y-10=0

y=3x9 l‘j’H’&E 3




12. A (a-2, —a+3) ol QATAA 5x+3y =6 9 1= 9Jof =
o, a ©] gk F-stofzt.
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[71%] bABCD 9|4 AB // DC, AD //BC
[22] A0 =C0,| 7 |=DO
(58] A0ADF AOCBOA[ L |=BC---@
AD//[ © Jelm=
LOAD = /OCB ([_=2 ))---©
LODA =0OBC ([_2 |)-—®
@, ©, ®°l 284 AOAD = AOCB ([0 | &%)
~A0=CO,[ 7 |=DO
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16. o2 HPAPHY ABCD o4 A M2 BC 9] F4o|th. AB = 8cm
d o, DE €] Zo]& stejet.
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> E cm
> HE: 16 cm

AB//DE 0|22

(BAM = /MEC, /ABM = /MCE

BM = CM
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-.DE = 16cm
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B3P A ABCD oA AF, BE & ztZ}
/A 9} /B Q] o] 5B Holt}t /AEB+ /AFB
o] 2712

@®© 70° @ 75° ® 80°

@ 85° @90°

A

B

LA + /B = 180°
1
LA + §AB + /AEB = 180°

/B + %AA + /AFB = 180°

. LAEB + /AFB = 360° — ;(ZA + /B)
= 360° — 270°
=90°
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@ AABP = ACDQ @)AP =PC
® AP =CQ @ AP//QC
® BQ =DP

B

AABP &} ACDQ ©f|A]
AB = CD, ¢APB = /CQD = 90°
/ABP = /CDQ (97Z})

. AABP = ACDQ(RHA &%)

T AP.1BD, CQLBD °]|2& AP //CQ

@, @0l A 2t 42| diro] Bastar 2
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ohe e AAFHY ABCD ©f 7} o] 53

2 Q7slel OEFGH 2 BE9lth, 44171
ABCD o4l AB = 6cm , AD = 8cm ©]1
EG 9} FH 9] w3d2 0 212 & o], AEFO 9
W o] E +otolet.
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SE . b6cm

~&B
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w2bd AEFO 9] ol i 24 = 6(cm?) o]t
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